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How many flagella are there in trophozoite of Giardia lamblia
a. One pair b. Two pair
¢. Three pair d. Four pair

In malaria pre-erythrocyltic schizogony occurs in
a. Blood b. Liver
¢. Kidney d. None of the above

Which of the following, is the largest protozoa
a. Balantidium coli b. Giardia lamblia
c. L donovani d. Entamoeba histolytica

T vaginalis in woman may produce
a. Asmplomatic b. White discharge
¢. Yellow discharge d. Allof the above

Production of colour shows negative result in
a. Indirect ELISA b. Competetive ELISA
c. Sandwich ELISA d. Direct ELISA

Consumption of uncooked pork is likely to cause which of the following
infection/disease

a. Taenia saginata b. Taenia solium

c. Hydalid cvst d. Trichuris trichtura

Which of the following, is not a neuroparasite?

a. Taenia sollum h. Acanthamocba
c. Naegleria d. Trichinella spiralis

The larval form of taenia is referred to as
a. Cvslicercus b. Cyslicercoid
¢. FEchinococcus d. Conerus

Katavama fever is caused by
a. F hepatica b, Cl sinensis
c. S hematobium d.  Sjaponicum

Carcinoma of urinary bladder is associated with which of the parasites
a. S japonicum h. S hematobium
¢. S mansoni d. Sintercalatum

Mosquito acts as vector for transmission of all the parasitic infections except
a. Malaria b. Bancroftian filariasis
¢. Malavan tilariasis d. Leishmaniasis

House fly acts as mechanical vector for transmission of all the following except
a. Amoebiasis b, Typhoid
¢. Malaria d. Cholera
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